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NEC /

PNP SILICON TRANSISTOR

" BN1A4M

DESCRIPTION The BN1A4M is designed for use in medium speed switching
circuit. PACKAGE DIMENSJONS
in millimeters (inches)
FEATURE ® Bias resistors built-in type PNP transistor equivalent circuit. o 15 MAK) (02058 MAK)
. c 6° i x’:%
8 3 P =
Ry =10k - 64 “_;, :ﬁ
R1 Ry =10 kQ ' <
R2 E . 1. 0.4
(0.016)
ABSOLUTE MAXIMUM RATINGS e
0.4 ==
Maximum Temperatures (0.016) 0
Storage Temperature . . .. ......... —551t0 +150 °C ' ~Z
Junction Temperature . .......... 150 °C Maximum -
Maximum Power Dissipation (T, = 25 °c)
Total Power Dissipation . ... .......... 250 mw I—
Maximum Voltages and Currents (T3 =25 °c) 1.32.7(0.05) 1.22\"3,3.5)
Vceo  Collector to Base Voltage . . .. ... -60 V = ey
Vceo Collector to Emitter Voltage . . . . . -50 V =2
Vego Emitter to Base Voltage . .. ... .. -10 V ot :EM,TTEH
Iciocy Collector Current (DC). . .. .. ... —100 mA z SoseECToR
Ic(puise) Collector Current (pulse) . ...... —200 mA
ELECTRICAL CHARACTERISTICS (T4 = 25 °C)
SYMBOL CHARACTERISTIC MIN. TYP. MAX. UNIT TEST CONDITIONS
R4 Input Resistance 7.0 10.0 13.0 k2
R1/R2 Resistors Ratio 0.9 1.0 1.1 -
ViL Low Level Input Voltage -1.13 -0.8 \% Vce=—-5.0V, Ic=—100pA
ViH Hi Level Input Voltage -3.0 -16 \% Vcg=-0.2V,Ic=-5.0mA
ton Turn on Time 0.1 0.5 us Vee=—5.0V, R =1.0kQ
tstg Storage Time 0.85 3.0 us Vin=—=50V,
toff Turn off Time 1.1 5.0 us PW =2 us, Duty Cycle <2 %
hEE DC Current Gain 35 50 100 - Vcg=—-5.0V,ic=-50mA
hgga DC Current Gain 80 140 - Vce =—-50V,Ilc=-50mA
VCE(sat) Collector Saturation Voltage —-0.04 -0.2 \% Ic=—5.0mA, Ig=-0.25mA
Iceo Collector Cutoff Current -0.1 uA Veg=—-50V,Ig=0
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TYPICAL CHARACTERISTICS (T3 = 25

TOTAL POWER DISSIPATION vs.
AMBIENT TEMPERATURE
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COLLECTOR CURRENT vs.
INPUT VOLTAGE
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COLLECTOR CURRENT vs.
COLLECTOR TO EMITTER VOLTAGE
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COLLECTOR SATURATION VOLTAGE vs.
COLLECTOR CURRENT
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RESISTOR vs.
20 AMBIENT TEMPERATURE
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COLLECTOR TO EMITTER VOLTAGE vs.
COLLECTOR CURRENT
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SWITCHING TIME vs.
COLLECTOR CURRENT
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